
l;=

g+= cg"dfg oyfy{

1 1=1 Plss[t ;DklQ s/ 2,800,000.00 2,496,584.05

2 1=2 ljleGg :yfgLo s/

1=2=1 #/ jxfn s/ 200,000.00 166,831.39

1=2=2 jxfn lj^f}/L 300,000.00 190,417.00

1=2=3 Joj;fo s/ 600,000.00 469,870.50

1=2=4 ;jf/L btf{ tyf s/ 200,000.00 100,658.00

1=2=5 dgf]/~hg s/ 250,000.00 111,714.23

1=2=6 lj!fkg s/ 150,000.00 4,100.00

hDdf 1,700,000.00 1,043,591.12

3 1=3 ef*f -g=kf= ;DklQ kl/rfng_

1=3=1 #/ ef*f 5,000,000.00 4,014,645.83

1=3=2 d]lzg/L pks/)f ef*f -nf]=l^= \̂ofS^/_ 300,000.00 48,730.00

1=3=3 PDa"n]G; ef*f

hDdf 5,300,000.00 4,063,375.83

4 1=4 ;]jf z"Ns

1=4=1 ;DklQ d'Nof+sg ;]jf z"Ns 300,000.00 233,650.00

1=4=2 ;*s aQL ;]jf z"Ns 100,000.00

1=4=3 ;jf/L kfls{é z"Ns 100,000.00

1=4=4 ;/;kmfO{ ;]jf z"Ns 200,000.00

1=4=5 #/ Ans gDa/ Kn]^ z"Ns 350,000.00

1=4=6 zf}rfno ;]jf z"Ns 100,000.00 75,900.00

hDdf 1,150,000.00 309,550.00

5 1=4=7 :yfgLo ljsf; z"Ns 7,102,000.00 7,102,000.00

6 1=4=8 vf=kf= dxz"n 1,200,000.00 1,124,203.41

7 1=5 b:t"/, b)* hl/jfgf

1=5=1 btf{ tyf gjLs/)f b:t"/ 3,000.00 2,710.00

1=5=2 #/ gSzfkf; b:t"/ 2,175,500.00 2,175,346.86

1=5=3 l;kmfl/; 813,900.00 813,810.00

1=5=4 b)* hl/jfgf 50,000.00 2,261.04

1=5=5 gftf k|dfl)ft 10,000.00 8,080.00

1=5=6 ljljw kmf/fd 237,100.00 237,055.00

1=5=7 sfGhL xfp; b:t"/ 1,000.00

hDdf 3,290,500.00 3,239,262.90

8 1=6 cGo cfo

1=6=1 cGo ljljw cfo 300,000.00 190,790.37

1=6=2 w/f}^L hkmt jf lkmtf{

1=6=3 ;fk^L tyf k]ZsL km%\of}{^ 10,000.00

1=6=4 lnnfd laqmL 20,000.00 14,325.00

1=6=5 k/LIff b:t"/ 11,500.00 11,500.00

1=6=6 nfut ;xeflutf -(n, lkr, cGo_

1=6=7 cfGtl/s ;fk^L

1=6=8 zx/L ljsf; sf]ifsf] Jofh -MDF_ 900,000.00

hDdf 1,241,500.00 216,615.37

9 1=7 lh=lj=;= af^ efua)*f jfkt

1=7=1 sjf*L 50,000.00 12,000.00

1=7=2 k|fs[lts ;fwg pkof]u -("+uf,lu^L,jfn"jf cflb_

900,000.00 839,517.64

cf=j=065.66 sf]

cf=j= 2065.066 sf] ah]^ tyf sfo{qmdsf] cfo cg"dfg / oyfy{ ljj/)f

;+s]t g+=
cfDbfgLsf zLif{sx?



hDdf 950,000.00 851,517.64

s'n cfkm\g} ;|f]tsf] cfo 24,734,000.00 20,446,700.32

1=8 nfut ;xeflutf

-s_ (n, lkr / cGo 7,204,800.00 5,777,004.00

-v_ hg;xeflutfdf cfwfl/t ljsf; sfo{qmd

u_ ;fIf/tf sfo{qmd ;+rfng cg"bfg 800,000.00 389,142.00

-#_ bdf}nL vfg]kfgL ;+:yf tna cg"bfg 455,000.00

hDdf 8,459,800.00 6,166,146.00

10 1=9 cg"bfg

1=9=1 :yf=lj=dGqfnoaf^ ljsf; cg"bfg 

s_ ljBfno ejg ;"wf/ cg"bfg -g=lj=sf]ifsf] 

of]hgf_ 2,256,500.00

v_ ;/;kmfO{ pks/)f v/Lb -;jf/L ;fwg_ c=

u_ kz" jwzfnf lgdf{)f cg"bfg

#_ cGo k'+hLut cg"bfg 5,467,000.00 5,467,000.00

ª_ s[lif tyf :tfgLo:t/sf ;*s 2,500,000.00 2,500,000.00

1=9=2 k|zf;lgs cg"bfg -kl~hs/)f ;d]t_ 800,000.00 800,000.00

1=9=3 kf/:kl/s sf]if cg"bfg

1=9=4 hg;xeflutfdf cfwfl/t ljsf; sfo{qmd

1=9=5 ;fd"bflos ljsf; cg"bfg -ul/jL lgjf/)F_ 500,000.00 500,000.00

1=9=6 ;fdflhs ;"/Iff cg"bfg 6,000,000.00 5,526,300.00

1=9=7 k'¤hLut cg"bfg -hu]*f sf]if_ 12,471,500.00 6,955,000.00

1=9=8 :yfgLo ljsf; z"Ns -ljz]if cg"bfg_ 13,407,000.00 8,938,000.00

hDdf 43,402,000.00 30,686,300.00

11 1=10 lh=lj=;= cg"bfg

1=10=1 cfkm\g} ;|f]taf^ 1,100,000.00 159,500.00

1=10=2 ;f+;b If]q ljsf; sfo{qmd dfkm{t 350,000.00

hDdf 1,450,000.00 159,500.00

12 1=11 g=lj=sf]if tyf cGo bft[;+:yf cg"bfg

1=11=1 gu/ ljsf; sf]if cg"bfg -dGqfno ;d]t_ 1,451,700.00 1,451,660.84

1=11=2 cGo bft[ ;+:yf cg"bfg -g=kf=;+# ;d]t_ 200,000.00 143,550.00

1=11=3 ;*s ljsf; sf]if 1,355,400.00 998,248.00

hDdf 3,007,100.00 2,593,458.84

13 1=12 C)f ;xof]u

1=12=1 gu/ ljsf; sf]if

1=12=2 cGo ljQLo ;+:yfx?

hDdf

s'n jfx\o ;|f]tsf] cfo 56,318,900.00 39,605,404.84

14 1=13 ut jif{sf] lhDd]jf/L

1=13=1 a}+s df}Hbft 3,684,464.23 3,684,464.32

1=13=2 txljn df}Hbft 122,876.16 122,876.16

hDdf 3,807,340.39 3,807,340.48

s'n hDdf 84,860,240.39 63,859,445.64



l;=

g+= cg"dfg oyfy{

1 2=1 tna -kfl/>lds_

2=1=1 -s_ sd{rf/L k|zf;g 3,676,700.00 3,611,221.16

-v_ ;+lrt labf, cf}iflw pkrf/ tyf pkbfg

250,000.00 38,726.00

2=1=2 hgk|ltlgwL kfl/>lds 100,000.00

2=1=3 sd{rf/L ljdf

hDdf 4,026,700.00 3,649,947.16

2 2=2 eQf

2=2=1 sd{rf/L 200,000.00 119,323.00

2=2=1=2 :jf:Yo ;/;kmfO{

hDdf 200,000.00 119,323.00

2=2=2 a}&s eQf

2=2=2=1 hgk|ltlgwL a}&s 400,000.00 362,600.00

2=2=2=2 j*f ;ldlt a}&s

2=2=2=3 of]hgf cg"udg, kl/jxg tyf ;+rf/ -

g=kf=;b:o / kl/ifb\ ;b:o ;d]t_ 200,000.00 175,500.00

hDdf 600,000.00 538,100.00

2=2=3 n"uf eQf -kf]zfs_

2=2=3=1 k|zf;g

2=2=3=2 -s_ lkog / gu/k|x/L 60,000.00 22,439.00

-v_ gu/k|x/L /f;g eQf 28,200.00 28,115.00

2=2=3=3 PDa"n]G; tyf cGo rfns

hDdf 88,200.00 50,554.00

3 2=3 e|d)f vr{ tyf b}lgs eQf

2=3=1 kbflwsf/L 100,000.00

2=3=2 sd{rf/L 602,000.00 601,612.00

hDdf 702,000.00 601,612.00

4 2=4 ;]jf tyf sfof{no ;+rfng

2=4=1 sfof{no ;]jf vr{

2=4=1=1 wf/f÷ljB"t 100,000.00 85,526.49

2=4=1=2 ^]lnkmf]g ^«+sn 195,000.00 194,821.19

2=4=1=3 ;]jf cGo 167,100.00 167,049.00

2=4=2 sfof{no ;+rfng vr{

2=4=2=1 :^]zg/L ;fdfg 201,700.00 201,642.00

2=4=2=2 %kfO{ 212,900.00 212,896.00

hDdf 876,700.00 861,934.68

5 2=5 ef*f 131,200.00 131,200.00

6 2=6 dd{t ;Def/

2=6=1 ;jf/L ;fwg 185,500.00 185,495.00

2=6=2 PDa"n]G;

2=6=3 k|zf;g cGo 50,000.00 38,875.00

hDdf 235,500.00 224,370.00

7 2=8 kq klqsf tyf k":ts 57,500.00 57,495.00

8 2=9 OGwg

2=9=1 k|zf;g ;jf/L 380,800.00 380,799.00

cf=j= 065.66 sf] ah]^ tyf sfo{qmdsf] cg'dfg / oyfy{ ljj/)f

;+s]t g+=
vr{sf zLif{sx?

 cf=j=2065.066



2=9=2 PDa"n]G;

2=9=3 ljljw 50,000.00 43,425.00

hDdf 430,800.00 424,224.00

9 2=10 ljljw tyf e}k/L

2=10=1 ljljw

2=10=1=1 hnkfg tyf cltly ;Tsf/ 347,000.00 346,976.00

2=10=1=2 rf*kj{ k"hf 30,000.00 20,117.00

2=10=1=3 cf}iflw pkrf/

2=10=1=4 vfBfGg cfxf/ 1,000.00

hDdf 378,000.00 367,093.00

2=10=2 e}k/L cfpg]

2=10=2=1 -s_ n]vfk/LIf)f 60,000.00 51,085.00

-v_ ;|]:tf k|)ffnL cWofjlws, k]ZsL / j]?h" 

km%\of}^ 25,000.00

2=10=2=2 cGo 170,000.00 169,765.00

2=10=2=3 #/ lgdf{)f ;fk^L 300,000.00 290,200.00

2=10=2=4 /fli^«o lbj;x? 20,000.00 3,500.00

hDdf 575,000.00 514,550.00

10 2=11 vKg] dfn ;fdfg -sDKo'̂ /, ;jf/L ;fwg_ 308,500.00 308,247.00

11 2=12 tflnd uf]i&L k|rf/ k|;f/

2=12=1 tflnd uf]i&L ;]ldgf/

2=12=2 k|rf/ k|;f/

2=12=3 cGo sfo{qmd

2=12=3=1 gu/kl/ifb\ ;+rfng 142,100.00 142,014.00

2=12=3=2 j*f Joj:yfkg vr{ 41,200.00 41,139.00

hDdf 183,300.00 183,153.00

12 2=13 cg"bfg, cfly{s ;xfotf, rGbf k"/:sf/, ;b:otf z"Ns

2=13=1 cg"bfg, cfly{s ;xfotf, rGbf

2=13=1=1 c;xfo bLg b"MvL 73,100.00 73,079.00

2=13=1=2 ;+# ;+:yf 289,500.00 289,450.00

2=13=1=3 b}jL k|sf]k 100,000.00 10,000.00

2=13=1=4 ljljw 30,000.00 19,700.00

hDdf 492,600.00 392,229.00

2=13=2 s_ ;b:otf z"Ns -g=kf=;+#_ 40,000.00 30,000.00

v_ cGo ;+# ;+:yf

2=13=4 k"/:sf/ ;Ddfg 15,000.00 7,300.00

13 2=14 hUuf v/Lb

14 2=15 ejg lgdf{)f tyf v/Lb

15 2=16 cGo lgdf{)f tyf ;"wf/ vr{ #REF! #REF!

16 2=17 pTkfbg ;fdu|L÷;]jf

17 2=18 nufgL

2=18=1 C)f nufgL

2=18=2 z]o/ nufgL

hDdf

18 2=19 s_ cfo tyf cfGtl/s ;fk^L lkmtf{ 500,000.00 313,376.80

v_ ufp+gu/ ;fem]bf/L

19 2=20 ;f¤jf tyf Jofh e'QmfgL 1,250,000.00 1,208,776.00

20 2=21 sd{rf/L sNof)f vr{ 800,000.00 800,000.00

;fk^L vr{

s'n k|zf;lgs vr{ 11,891,000.00 10,783,484.64



cf=j= 065.66 sf] ljsf; ah]^ cGtu{tsf ah]^ tyf sfo{qmdx?sf] lj:t[t cg"dfg ljj/)f

l;=

g+= cg"dfg oyfy{

1 2=16=1 zx/L ljsf; sfo{qmd

2=16=1=1 xfp; gDal/é tyf ;*s gfdfs/)f sfo{

2=16=1=2 hUuf ljsf; sfo{qmd 50,000.00

2=16=1=3 b}jL k|sf]k Joj:yfkg sfo{qmd

s_ e'sDkLo hf]lvd Go'lgs/)f sfo{qmd -hgr]tgf_

20,000.00

v_ b}jL, b'#{^gf lgoGq)f Pj+ Joj:yfkg 226,500.00 226,500.00

2=16=1=4 s/ k|zf;g ;"b[(Ls/)f -Plss[t ;DklQ s/_

260,700.00 260,653.00

hDdf 557,200.00 487,153.00

2 2=16=2 gu/ ;'rgf, ;+rf/ / k|sfzg

2=16=2=1 tna 173,000.00 157,884.00

2=16=2=2 ;'rgf s]Gb| Joj:yfkg 20,000.00

2=16=2=3 a|";]^ tyf ultljlw k|sfzg 100,000.00 32,300.00

2=16=2=4 k":tsfno -jfrgfno ;d]t_ 100,000.00 100,000.00

2=16=2=5 sDKo'^/ tyf k|f]h]S^/ v/Lb 100,000.00 64,214.00

2=16=2=6 sDKo'^/ tyf ^]lnkmf]g g]^jls{é 121,400.00 121,325.00

2=16=2=7 cfd ;+rf/ If]q k|aw{g tyf :t/a[l$ -lhNnf 

l:yt kqsf/ %ftf ;+u&g dfkm{t_ 150,000.00 130,800.00

hDdf 764,400.00 606,523.00

3 2=16=3 ko{^g, jgjftfj/)f tyf e';+/If)f

2=16=3=1 ko{^g k'jf{wf/ tyf k|rf/ k|;f/ -cfGtl/s 

ko{^g / tgx'+ dxf]T;j_ 150,000.00 59,099.00

2=16=3=2 v"nfrf]sdf j[Iff/f]k)f Pj+ ;+/If)f sfo{qmd 20,000.00 18,485.00

2=16=3=3 ;f=s= tyf lghL jg sfo{qmd

2=16=3=4 e'Ifo tyf vf]N;L lgoGq)fsf nflu tf/hfnL 

v/Lb 117,700.00 117,640.00

hDdf 287,700.00 195,224.00

4 2=16=4 lzIff tyf v]ns'b

2=16=4=1 ;fj{hlgs ljBfno u")f:t/ a[l$ sfo{qmd 327,800.00 327,750.00

2=16=4=2 gof+ ejg lgdf{)F 500,000.00 452,500.00

2=16=4=3 dd{t ;Def/, kmlg{r/ tyf h:tfkftf 250,000.00 203,175.00

2=16=4=4 v]ns'b 370,500.00 370,416.00

2=16=4=5 ljBfno zf}rfno lgdf{)f

2=16=4=6 dxlif{ j]bJof; cWoog cg";Gwfg s]Gb| / Jof; 

dxf]T;j 25,000.00 18,430.00

2=16=4=7 k/Dk/fut snf, ;flxTo Pj+ nf]s ;+:s[lt 

hu]gf{ 55,000.00 55,000.00

hDdf 1,528,300.00 1,427,271.00

5 2=16=5 cfwf/e't zx/L ;]jf sfo{qmd -;f=lj=;ldlt dfkm{t_

2=16=5=1 ;fIf/tf cleofg 800,000.00 398,738.00

2=16=5=2 ;fd"bflos :jf:Yorf}sL ;+rfng -aLp k'¤hL_ 25,000.00

2=16=5=3 cGw, ckfé, czSt %fqa[lQ tyf k"g:yf{kg 40,000.00 25,500.00

2=16=5=4 afn ljsf; ;DaGwL ;fdu|L ljt/)f sfo{qmd 124,700.00 124,666.00

2=16=5=5 ;fd"bflos ;/;kmfO{ tyf :jf:Yo lzIff sfo{qmd

300,000.00 261,700.00

2=16=5=6 o"jf ljsf; sfo{qmd -;dGjo sf]if_

;+s]t g+= cGo lgdf{)f ;"wf/ cGtu{t
 cf=j=2065.066



2=16=5=7 a[$ ;Ddfg tyf cGo ;Ddfg sfo{qmd 50,000.00 19,796.00

2=16=5=8 ;fd"bflos dWo:ytf sfo{qmd 50,000.00 27,950.00

hDdf 1,389,700.00 858,350.00

6 2=16=6 hgzlQm ljsf; tyf bIftf a[l$

2=16=6=1 dfgj ;+;fwg ljsf;

2=16=6=2 tflnd tyf pks/)f

2=16=6=3 cjnf]sg e|d)f 100,000.00 79,380.00

hDdf 100,000.00 79,380.00

7 2=16=7 u/LaL lgjf/)f tyf ;fdflhs pTyfg

2=16=7=1 ufp¤gu/ ;fem]bf/L zfvf tna 911,000.00 812,524.00

2=16=7=2 dlxnf hfu/)f sfo{qmd tyf ;Lk ljsf; 83,900.00 83,850.00

2=16=7=3 -s_ blnt, cflbjf;L, hghflt, d"l:nd ;d"bfo 

/ ljkGg ;DaGwL sfo{qmd 23,000.00 23,000.00

-v_ ljkGg ju{x?nfO{ zf}rfno lgdf{)F 100,000.00 4,500.00

2=16=7=4 ;fdflhs ;"/Iff sfo{qmd 6,000,000.00 5,526,300.00

hDdf 7,117,900.00 6,450,174.00

8 2=16=8 ejg lgdf{)F tyf k'¤hLut ;"wf/

gu/ ljsf; sf]if / :yfgLo lj=d= cg"bfg

2=16=8=1 ljBfno ejg lgdf{)F 4,541,000.00 1,814,940.00

2=16=8=2 ljljw 

hDdf 4,541,000.00 1,814,940.00

2=16=8=3 kz" jwzfnf lgdf{)f 

2=16=8=4 sfof{no ejg dd{t tyf kl/z/ lgdf{)f Pj+ 

;"wf/ 638,400.00 638,372.00

hDdf 5,179,400.00 2,453,312.00

9 2=16=9 a;kfs{ lgdf{)f tyf ;"wf/ 50,000.00

10 2=16=10 kmf]x/d}nf Joj:yfkg tyf ;/;kmfO{

2=16=10=1 -s_ tna 1,533,000.00 1,519,635.70

-v_ cGo eQf 60,000.00 48,500.00

2=16=10=2 ;jf/L ;fwg tyf pks/)f v/Lb

2=16=10=3 ;jf/L OGwg 300,000.00 275,398.00

2=16=10=4 cf}iflw, pkrf/ tyf kf]zfs 30,000.00 25,727.00

2=16=10=5 xf]d sDkf]li^ª / Knfli^s lgoGq)f

2=16=10=6 ;/;kmfO{ ^f]n kl/rfng sfo{qmd -r]tgfd'ns_

137,500.00 137,340.00

2=16=10=7 ;/;kmfO{ pks/)f dd{t ;Def/ tyf d"VooGq 

kl/jt{g 150,000.00 105,304.00

2=16=10=8 *lDké ;fO^ -cWoog, cg";Gwfg / Joj:yfkg_

2=16=10=9 l*:kf]hn ^\of+s/ v/Lb

2=16=10=10 Plss[t bLuf] kmf]x/ Joj:yfkg sfo{qmd 600,000.00 590,333.00

hDdf 2,810,500.00 2,702,237.70

11 2=16=11 ljB"t

2=16=11=1 tna 353,000.00 314,315.60

2=16=11=2 ;*saQL dd{t ;Def/ 357,100.00 357,087.00

2=16=11=3 gof¤ h*fg -dxTjk')f{ ;fj{hlgs :ynx?df_ 326,600.00 326,532.00

2=16=11=4 ljB"t nfOg lj:tf/ -g=kf=, k|flws/)f ;fem]bf/L_ 50,000.00 23,820.00

hDdf 1,086,700.00 1,021,754.60

12 2=16=12 ef}lts of]hgf tyf lgdf{)F

2=16=12=1 s_ tna 1,563,000.00 1,546,117.92



2=16=12=2 OGwg -nf]*/ l^k/ / df]^/;fOsn ;d]t_ 243,100.00 243,010.00

2=16=12=3 nf]*/÷l^k/ d"VooGq kl/jt{g tyf ;+ef/ 200,000.00 199,632.00

2=16=12=4 oftfoft -s_ sRrL ;*s lgdf{)f÷gfnf, 

Uofljog ;d]t 230,600.00 230,545.00

     -v_ u|fe]n tyf dd{t 443,000.00 442,802.00

     -u_ #f]*]^f]÷uf]/]^f] af^f] 50,000.00 41,764.00

     -#_ km*\s] tyf emf]n"é]k"n dd{t 150,000.00 115,673.00

     -ª_ sNe {̂ lgdf{)f -x\o"d kfOk vl/b_

505,300.00 505,268.00

-r_ /fhdfu{ / cGo af^f]df gfnf,:Nofj / 

k"m^kfy lg= 468,100.00 468,006.58

     -%_ ;*s sfn]kq] -;*s af]]*{_ 1,760,400.00 1,669,033.20

     -h_ shj] lgdf{)f dd{t ;d]t 50,000.00

2=16=12=5 hg;xeflutfdf cfwfl/t sfnf]kq] ;*s -hu]*f 

sf]if_ 5,000,000.00 4,222,003.00

2=16=12=6 -s_ ;tx (n -hu]*f sf]if / cGo ;d]t_ 5,000,000.00 57,888.00

-v_ hu*f sf]ifsf cGo sfo{qmd -ljBfno_ 8,862,000.00 4,552,890.00

-u_ s[lif tyf :tfgLo:t/sf ;*s 2,858,000.00 2,854,595.00

2=16=12=7 kfs{ lgdf{)f tyf dd{t

2=16=12=8 ;fj{hlgs zf}rfno tyf :gfg#/ lgdf{)f

2=16=12=9 k|ltIffno lgdf{)f tyf dd{t 30,000.00

hDdf 27,413,500.00 17,149,227.70

13 2=16=13 vfg]kfgL

2=16=13=1 bdf}nL vfg]kfgL cfof]hgf

-s_ tna 931,000.00 779,982.20

-v_ OGwg 1,000.00

-u_ lj:tf/, dd{t tyf cg"bfg 1,300,000.00 1,125,036.40

-#_ d"xfg tyf ^+sL ;+/If)f / ;/;kmfO{ 20,000.00 10,000.00

-ª_bdf}nL vfg]kfgL ;|f]t,;DefJotf cWoog / 

l*kaf]l/é 300,000.00 4,819.00

-r_ vfg]kfgL hu]*f sf]if

hDdf 2,552,000.00 1,919,837.60

2=16=13=2 cGo demf}nf tyf ;fgf vfg]kfgL of]hgf -kfOk 

v/Lb_ 1,238,500.00 1,238,495.00

hDdf 3,790,500.00 3,158,332.60

14 2=16=14 s[lif, l;+rfO{ tyf ;xsf/L 392,800.00 392,738.00

15 2=16=15 lghL tyf ;fj{hlgs ;+o"Qm nufgL sfo{qmd-kL=kL=kL=_ 100,000.00 15,000.00

16 2=16=16 ljljw k"m^s/ of]hgfx? 1,292,000.39 1,291,999.82

2=16=16=1 j*f ljsf; cg"bfg 2,200,000.00 1,822,483.00

2=16=16=2 bdf}nL zjbfx #f^ lgdf{)f 100,000.00 63,500.00

2=16=16=3 yk hu]*f sf]if ljz]if cg"bfg tkm{sf of]hgfx?

s_ ef}lts lgdf{)f tkm{ -80 k|ltzt_ sf of]hgfx?

1 *f+u|] vf]N;L kSsL (n lgdf{)f 3,000,000.00 602,920.00

2 Nof)*lkmn ;fO* tyf kx''r dfu{ lgdf{)f 1,000,000.00 363,347.00

3 ;/;kmfO{ pks/)f v/Lb 3,000,000.00 373,859.00

4 zflGt kfs{ lgdf{)f 300,000.00 289,700.00

5 rf/s"g] eb|"s d";]vf]nf df]^/ dfu{ lgdf{)f 400,000.00 71,500.00

6 pbo df=lj= sDkfp)*jfn lgdf{)f 700,000.00 236,430.00

7 r)*Lb]jL /f=df=lj= ejg lgdf{)f 500,000.00 275,000.00

8 b"D;Lrf}/af^ Jof; 3 u"Daf hfg] af^f] 500,000.00 90,000.00



9 cgGt dfu{ lgdf{)F -j*f g+=11 / 5 hf]*\g]_ 500,000.00 8,000.00

10 af/fxL df=lj= sDkfp)*jfn lgdf{)f 825,600.00 145,560.00

v_ ;fdflhs kl/rfng sfo{qmd -15 k|ltzt_ 2,011,050.00 1,882,349.00

s_ pBdzLntf / cfo cfh{g -dlxnf tyf ljkGg ju{_

v_ ;dfj]zLs/)f z;lQms/)f -blnt, hghflt, 

cflbjf;L, d"l:nd ;d"bfo tyf ljkGg ju{_

u_ cf}Bf]lus >d

#_ u/LaLd"vL lap k'+hL

ª_ gd'gf s]Gb| 

r_ ;fdflhs kl/rfng -zlQms/)f_

u_ sfof{no Ifdtf clea[l$ sfo{qmd -5 k|ltzt_ 670,350.00 641,150.00

h_ pks/)f v/Lb

em_ e|d)f

~f_ ljQLo >f]t

r_ of]hgf k|ls|of zx/L ;"wf/

hDdf 16,999,000.39 8,157,797.82

17 2=16=17 -s_ lh=lj=;= tgx'¤ tkm{sf of]hgfx? 3,051,640.00 1,799,651.00

-v_ ;+;bLo If]q ljsf; sfo{qmd 350,000.00

hDdf 3,401,640.00 1,799,651.00

hDdf ljsf; vr{ 72,969,240.39 46,954,126.42


